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The line graph shows the percentage 40 201415
increase in population of six fowns from 2014 35 ——<

to 2015 and 2015 to 2016. The table shows 30 — —201>-1¢

the actual population in these village in 25

three different years. 20
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What is the total increase in population of 40

town A from 2014 to 2014? 35 _ —2014-15
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If the average population of all the fowns in 40

year 2016 is 2201 then what is the population 35 ——2014-1
of town D in year 2016? 30 __—2015-16
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(1) 1504 (2) 1604 (3) 1704 (4) 1804 ,,
(5) None of these 5
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What is the total increase percentage of 40

population in the town A, B and C taken tae —2014-15
together from 2014 to 2016 (approx.)? 30 __—2015-16
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If the total population in town D in 2015 is 40

1300 then find the average population of all 35 -~ —2014-19
the towns in year 2014? 30 __—2015-16
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(1) 1450 (2) 1350 (3) 1250 (4) 1520 4
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What is the ratio of total population of all the 40

towns in 2015 to the total population of all 35— —2014-15
the town in 20167 30 __—2015-16
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(1) 6:7 (2)4:5 (3)3:5 (4) 5: 3 }f,
(5) Can’t be determined 5
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